6-4 Rectangles
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DEFINITION OF A RECTANGLE: A rectangleis a P@ ol ’!a}rw with "‘!6} angles.
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Properties of a Rectangle: Rxample fromthe pictore. || & B
OC.: Xo || Bz, X
1. Opposite sides are *77)\@“6{ m “ (/‘) AD “ B[/
A - A 2
2. Opposite sides are CM@U&VVC . %%ﬁ) AD /66 D ¢
A (BD e L 2D
3. Opposite angles are Wumt . (iADC Y A{-A’BC &
Y ‘.2:/ (B‘ /’*MABC‘D:( >’
4. Consecutive angles are JS )‘262}{2{5@1&% MM, are 4 °()—H~’k‘
5. The diagonals b\ S(Lf/ each other. AX:XCJ DXCXE)
1BAD, LADC, LB THESE PROPERTIES ARE
6. Allfour angles are FQ4\I\J(/ angles. }ZCPJA (ﬂ/fC H’-d.,f WHAT SEPARATES THE
U ) e — RECTANGLE FROM A
7. The diagonals are CG’]C{Y vernt AO < DB BASIC PARALLELOGRAM.
A

1-6: Given rectangle RSTU, write an equation and solve for x. Then find each value. Circle your final answer.
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If UZ=x+21&ZS = 3x - 15, find US.
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3. IfRT = 5X + 8 & RZ = 4x + 1, find ZT. 4. If mZSUT = (3x + 6)° & mZLRUS = (5x - 4)°,
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5. IfmZSRT = (x +9)° & mZUTR = (2x - 44)°,
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6. If MZRSU = (x + 41)° & mLTUS = (3x + 9)°,

find mZRSU.
R

(x +41)°

(3x+9)°

. X4 =X+

2
%= 16



7-12: Given rectangle GHJK, find each measure if mZ1 = 37°.
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Coordinate Proof: How would you prove a parallelogram is a rectangle? Think about the properties that would make
the parallelogram a rectangle!
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13-15: Graph each parallelogram with the given vertices. Do a coordinate proof to determine whether the figure is a
rectangle. (A picture alone is not sufficient evidence to justify your answer!)

13. B(-4, 3), G(-2, 4), H(1, -2), L(-1, -3)
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